zZ5

2SB7721 (3CA7721) fE PNP 3 E4K=4%%E/SILICON PNP TRANSISTOR

Fad: JHT 3 PUEs BSOSt FR T IR A, FRUR B A 4K R 2 K B o

Purpose: Output stage of 3 watts audio amplifier, voltage regulator, DC-DC converter and relay
driver.

R AN D, he e HLER IR LT

Features: Low saturation voltage, excellent hr linearity and high hge.

WP 2% /Absolute maximum ratings (Ta=25°C) .? o
ST B SR VA :
Symbol Rating Unit
VCBO _40 V | rl' [N l
Vero -30 y { J ‘ r
Viro -5.0 V 1l 2 ' Al
Lo -3.0 A -
Pc(T.=25°C) 1.0 W ) i el
P 12250 0o
T, 150 C Y B X O
Tore —55~150 C BIM: 1.B 2.C 3.E
TO-251
HLE B2 # /Electrical characteristics(Ta=25°C)
S A
2 A Rating i
7 Test Condition Be/ME | I | BAR B | Unit
Symbol .
Min Typ Max
Lo Ve=—30V 1,=0 -1.0 v A
IEBO VEB:73- OV Ic:O 71. 0 B A
heeo) Ve==2. 0V I=1.0A 60 160 400
heee Vee==2. 0V I~=-20mA 30 220
VCE(sat) IC:_Z. OA IB:_O. 2A _0. 3 _O. 5 V
Vit sat) I=2.0A I;=-0. 2A -1.0 -2.0 V
fT VCE:75- OV ICZ*O. IA 80 MHZ
Cob VCB:_IOV IEZO le. OMHZ 55 pF

hee oy 73 4% /heeyclassifications: R:60~120 Q:100~200 P:160~320 E:200~400
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25B7721 (3CA7721)

Vegman (V)

le (A)

Vg (V)

Pc-Ta
Note:
1. Aluminum heat sink of
10 1.0 mm thickness.
2. With no isolator film.
8 3. Within silicon compound.
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